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CNSL5093 - Central Tendency Computations

Central Tendency Computations

Element Levels of Performance

1. Given a data set, student
demonstrates ability to compute mean

__Target(3)

<span style="font-size: 12pt; font-
family: &#39;Times New
Romané&#39;,&#39;serif&#39;"><em>G
iven a data set, student demonstrates
ability to compute mean

___Acceptable(2)

<span style="font-size: 12pt; font-
family: &#39;Times New
Romané&#39;,&#39;serif&#39;"><em><
span style="font-size: 12pt; font-family:
&#39;Times New

__Unacceptable(0-1)

<span style="font-size: 12pt; font-
family: &#39;Times New
Romané&#39;,&#39;serif&#39;"><strong
><em>Includes correct computations.
Shows multiple computational

demonstrates ability to compute
median

<span style="font-size: 12pt; font-
family: &#39;Times New
Roman&#39;,&#39;serif&#39;"><em>G
iven a data set, student demonstrates
ability to compute median
correctly</em></span>

<span style="font-size: 12pt; font-
family: &#39;Times New
Roman&#39;,&#39;serif&#39;"><em><
span style="font-size: 12pt; font-family:
&#39;Times New
Roman&#39;,&#39;serif&#39;"><em>G

correctly</em></span> Roman&#39;,&#39;serif&#39;"><em>G | approaches</em></strong></span>
iven a data set, student demonstrates
ability to compute mean&nbsp;with
</em></span></em></span>
2. Given a data set, student ___Target(3) ___Acceptable(2) __Unacceptable(0-1)

<p><span style="font-size: 12pt; font-
family: &#39;Times New
Romané&#39;,&#39;serif&#39;"><strong
><em>Given data set, computations of
the median is incorrect and based on
incorrect
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iven a data set, student &nbsp;basic
computations of median includes
errors.</em></span></em></span>

procedure</em></strong></span></p>

3. Given a data set, student
demonstrates ability to identify the
mode

__Target(3)

<span style="font-size: 12pt; font-
family: &#39;Times New
Romané&#39;,&#39;serif&#39;"><em>G
iven a data set, student demonstrates
ability to identify the
mode</em></span>

___Acceptable(2)

<span style="font-size: 12pt; font-
family: &#39;Times New
Roman&#39;,&#39;serif&#39;"><em><
span style="font-size: 12pt; font-family:
&#39;Times New
Roman&#39;,&#39;serif&#39;"><em>G
iven a data set, student &nbsp;basic
incorrectly identifies the
mode</em></span></em></span>

__Unacceptable(0-1)

<p><span style="font-size: 12pt; font-
family: &#39;Times New
Romané&#39;,&#39;serif&#39;"><strong
><em>Given data set, the identification
of the mode is incorrect and based on
incorrect
procedure</em></strong></span></p>
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